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A train crosses a man running in the direction of
train with the speed of 7 km/h In 14 seconds.
Whereas this train crosses another man running in
the opposite direction of train with the speed of 6
km/h in 12 second. What is the speed of train.

Uh ¢ 14 Yebe § 7 fhdl / °eT &I Tid & 1Y ¢ i
fa=nm ¥ 9d I8 U SMGH! Bl UR &Rl 6| SdiPb I8 ¢
12 Ycbe U 6 fhbAl / °cl DI Td & 1Y ¢ DI [AWRId
fa= & 9d X8 THh 39 Aiad &I UR Bl gl ¢ B T
C i ‘:1‘> 2)85 km/h

[ SSC CPO 2019] b)84 km/h

01:00 ofr

d)90km/h
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A Dboat covers a certain distance
01'00 downstream with speed 33 km/hr. and
) upstream at 14 km/hr. Then find the
speed of Boat in still water and also find

the speed of current.
Uh d1d URT & 3pd U Migd @ 33
fopdl/Eier @ Ifd ¥ 3R 4RT & Ufded 14
fopHIder &t TIfd T 79 Pl gl R 2id od

o A1d Dt A 1T PIOT 3R URT B i i

] | a)9.5 km/hr and 23.5 km/hr
b) 23.5 km/hr and 9.5 km/hr
¢) 28.5 km/hr and 4.5 km/hr

d) 4.5 km/hr and 28.5 km/hr
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Abhi rows upstream a distance of 28
kEkm in 4h and rows downstream a
distance of 50 km in 2h. To row a

distance of 44.8 km in still water, he
will take: (MAINS 2018)

3fH 919 T 4 902 H 28km B IYAWATE g3l
9 HAT 8 9T 2 4¢ W 50km Bt AIUATE g3l

99 HYaT g | 19 A Uid 9 A 44.8km P g
da &1 H 39 Fd fba- gue avii?

(a) 3.2 h

01:00 2

(¢)2.4 h
(d)2.2 h
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A boat goes 30 km upstream in 3 hours
and downstream in 1 hours. How much
time (in hours) will this boat take to cover
60 km in still water?

Ig A1d 30km DI g1 URT i fausia fa=m o 3
de O quT URT & fe=n # 1 °9¢ 99 ol &l
Qid S H, I8 A1d 60 km I g3 fdd- TH
(Tic H) T HA1?

[ SSC CPO 2019]
> a)3h

01:00 o

d)6h
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. A person rows a distance of 3% km

upstream in 1% hours and a distance of

13 km downstream in 2 hours. How
much time (in hours) will the person
take to row a distance of 90 km in still
water? (CPO 2019)

U @ 19 g1 R & WaTE @1 fauda [6el # 3;
km & 531 9 & # léﬂ%ﬁmﬁw%aﬁ?w

# ware #1 162 % 13 km &1 58 o9 & % 2 ue

HT TG ol & | 99 afed &1 fer 5 § 90 km =+
o T B | fham wHa (gei °) e

_ (a) 15
01:00 02

(d) 24
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The speed of a boat in still water is 18
km/h and the speed of the current is 6
km/h. In how much time (in hours) will
the boat travel a distance of 90 km

upstream and the same distance
downstream? (MAINS 2018)

ey gl & ve arg v afa 18 R / wer
g 3R arr i AfF 6 AT / Her §1 FFaa
AT A (dr #H) 90 fFAT A gt umr-
yfdde IR FAE gt Iqware # a7 F4?

01:00 w10
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Time Speed & Distance A boat can travel
with a speed of 19 km/h in still water, If
the speed of the stream in 3 km/h. then
what will be the total time (in hours)
taken by the boat to go 88 m downstream
and 24 km upstream

Uh A1d RR S § 19 km/h DI 1A ¥ o
gohd! g1 Ife URT &I 91 3 km/h g, < A1d
GRT 88 km URT B1 &= T 3R 24 km URT P
fARId fa=m & 99 90y (9 H) T? o
foaHT (a) 4.5

(b) 5
[ SSC CPO 2019] o

01:00 > @5
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A boat moves downstream at the rate

of 1 km in 7% minutes and upstream at

the rate of 5 km an hour. What is the
speed of the boat in the still water?

Wﬁﬂﬂ?éﬁ'ﬁ?ﬁ1ﬁﬂﬁ.ﬁﬁﬁﬁlﬂﬂ

Udre ¥ ofdl 8 30X 1 "9 H 5 fedfr. & wfa
4 Sudl garg ¥ ol 21 Rer oo 7 At
&1 fa fea-r 7

(MAINS 2017)

(a) 3.5km/hour

U 1 00 d> (b) 6 .5 km/hour

(¢) 4 km/hour
(d) 8 km/hour
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If a boat goes upstream at a speed of 24
km/hr and comes back the same
distance at 40 km/hr. What is the
average speed (in km/hr) for the total

journey? (MAINS 2017)
Ife I8 w19 g1 & faedia a1 R7m 4 24

fo it /ger &1 fad | Iadr & 3R S+l &)
<8 9 40 & M. /ger &1 wfa |4 auw anh
e | & AT I Atwa afa (A /ger o)

T 27

01:00 =0

(d) 33
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A jet-ski goes upstream at a speed of 48
Em/hr and comes back the same
distance at 80 km/hr. Find the
average speed (in km/hr) for the total
journey. (MAINS 2017)
Uh sie—¥@! 48 fHfl. ufa =2 a1 w1fa <
gRT & quda oIl 2 30iv 80 &1 yfr =<
o afd 4 I <8 ux 9uw el 21 @d
a1 & fore SEar ditwa wfa (B /=<

#H) B TOET BN |
(a) 64
01:00 s
(c) 66
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A man can row 14 km/h in still water. If
the speed of the current iIs 6 km/h, it
takes 7.5 hours more in upstream than in
the downstream for the same distance.
The distance iS?

Th STGH! A1 T H 14 fhdi/der ot AR
T R Fhdl 2 Ife YR Bt A 6 fedi/be g,
dl URT & Uldpd ¥ J0 g1 & ol 4RI &
3P &I g | 7.5 °¢ 3w 7 ddl g
87

(a) 80 km

01:00 e

(d) 120 km
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A motor boat, travelling at the same
speed, can cover 25 km upstream and
39 km downstream in 8 hours. At the
same speed, it can travel 35 km
upstream and 52 km downstream in 11
hours. The speed of the stream is

Udh Aie—dic, Uh Ifd 4 8 92 # gRT &
faudia 25 feedl. dom it 39 sl <
a&bdl = | A g 9d ufa 9 ag 11 9 H
g1 & faudia 35 fed. aar i1 52 f&t.
ST ¥dHdl 2 | IRT BI daTed © |

(MAINS 2016)

(a) 2 km/hrs

0100 :‘> (b) 3 km/hr

(¢) 4 km/hr
(d) 5 km/hr
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A boat can go 15 km downstream and 8
km upstream in 2 h. It can go 20 km
downstream and 12 km upstream in 2 h
50 min. What is the speed (in km/h) of the
boat while going downstream?

®ig 1d 2h H YRT B! TG H 15 km 3R YRT
o fARId fa=M H 8 km Pl g T HR bl
8| T8 2h50 min H YRT &1 =’ H 20km 3R
D [AWRId TR H 12 km DI g1 T B bl
g1 YRT &t o2 H S1d &, 19 &t I km/h
o J1d B | (a) 16

(b) 15

01:00 =
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A Dboat can go 4.8 km upstream and 5.6 km
downstream in 59.2 minutes while it can go 5.6 km
upstream and 4.8 km downstream in 60.4 minutes
the time taken by the boat Iin going 12 km
downstream is

Uh A9 4.8 fhHl URT YdIe &1 Ulddd 4= H 3R 5.6
fpHt YRT UaT8 i fe=M & 3R 59.2 fie § ST I&hdl & |
S I8 5.6 fbHl YRT UaTg & Ulddpd = H 3R 4.8
fpHt YRT yaTg ot G2 H 60.4 B A ST Ibdl g | A9 I
12 fooril YR yaTe S G AT H T qHT § 2

2.50 min

' b.60 min
01:00 b min_

d.45 min
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A motor-boat can travel at 10 km/hour
in still water. It travelled 91 km
downstream in a river and then
returned to the same place, taking
altogether 20 hours. Find the rate of
flow of river.

U®h Hiey—dic Rer urft 4 10 f&df). /ger &)
Afr 4 9d Addl g1 98 F4l °H 91 AL
Jydre dell AR 921 @le 31g | S8 Hd 20
He ol | <] © Udre &I Afa |1 87

(MAINS 2015)
d> (a) 3 km/hour

U 1 UU (b) 4 km/hour

(¢) 2 km/hour
(d) 5 km/hour
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A boat takes 4 hours to travel from a

place X to Y downstream and back
from Y to X upstream. If the distance
from X to Y is 10.5 km, and the speed
of the current is 9 km/h, then the
speed of the boat in still water, in
km/h, is: (CPO 2019)
Uh A1g Dl gRT B yare @ ' H X 9 Y wE b
S 3R gRT & Jarg & fawia R'm 4 Y 9 X I d&
a9 3 H 4 5 BT wHd ofar & | Afe X9 Y @1 gl
10.5 km %, 3R grT @ 9@ 9 km/h g @1 Rer
S H A9 @f arel, km/h ¥ f&a- grfi?

(a) 10.5
01:00 0%

(d) 12.5




